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The verse equates a woman to a man  — 2K @R 2127 W7

Overview

The X3 cites several Mw77 where the 770 equates a woman to a man
concerning punishments and laws, etc. However we also find in other places
that the X773 asks how we know that certain rulings apply to women as well.
There seems to be a contradiction between these different mwa7. Our NMBOIN
will reconcile these differences.

=997 YDA NININI NYIDNT RPN NPT 139N
This ruling (that "1 @K% "wX 21257 Mwn) is valid specifically (only) where
the mw=p was stated in the masculine form; it is only then that we maintain that
even though it is written in a masculine form , nevertheless it applies to women as well as

to men -
=995 239D 229 TIIVNIN ININ T2997 (3,2 971 NINN YWIIT NINN D

As it is in that X723 in the beginning of 7791%n ndon, where the X722 asks

why is a 1291 necessary concerning 792N that a woman is included in the laws
of mmman?! If it is - -
— YIND AYN 29N5N MYN XN 99T )W 199N NYIDNY 29Y

because the w9p was written in the masculine form; that is no reason to

require a M12°7; for the 770 equated a woman to a man.' This proves that
(even) when the 7w19 is written 297 WY1 it includes woman, since 121 2127 W -
— 9249 998 BN INTY N>THA YIN 29157 NN HaN

However where the word '@sX' (man) is explicitly written, there we

certainly require a 2% to include a woman; otherwise those laws are restricted to
men only.

mooIn will prove this point that where the word WX is mentioned a ™2™ is required to
include AWX:
— 19931 NYN YIR NIN 95 PR *9995 99 WIN (10 prmo) TN YIIN P97 NYNNS

As in that Xn>72 in nIn» Y29 P95 where the X 1) cites the 109 of 92 wsN
by, and the X asks, ‘we only know if a man curses his father that he

receives a punishment how do know that a woman is also punished for cursing
her parents’4. We see from that X7n3 that a »12°7 is necessary to include WX, since the 77N

" The x»a there subsequently explains why 790 is different (since it cannot be done 112x%2).
% The actual text of the Xn*2 there reads: N2 M21% WX WK "N 77 WX 1137 NN.

30,9 X,

* The ®m concludes that it is derived from the extra word "w°X'.
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specifically states w°X which would normally exclude fwX, unless there is a 12™.

mooIn asks:
— (AUNA MY PAINN NPT OWI 3,10 97) TYNNI DYIIN NIIY NIV 119PY 99NN ON)

And if you will say; later in ;7w2nm AY29R 7AW W P79, where the X3 -
— DNAY MY 23) NYNRN MY NXAND Sm’:m MY MY 97NT

states, concerning a " that killed, the 7710 writes 912,71 seven times to

include the =2 of a woman,® that if a woman’s ox gored and killed a person the ox

is 79°po 21°1n; the same law that applies to a man’s ox. The question is -
— YN 2915 XY ONN NN 39 TPIVYN INDN

Why is a %131 necessary to include 7wxi 2w; for there (in that 7275 of MW

DX MAW) it does not say the word "@R'?! We should know that it includes nwx,
sincew X? nWR 215771 MW (where it does not say @R explicitly)!

mMooIN anticipates a possible answer, and rejects it:
—nny Sphya 03 729057 22 by 9N

And even though it is written in that w79 ‘his owner shall also die’; the

105 uses the term ‘his owner’ implying that we are discussing a male. Therefore,
perhaps, that is why a "12"1 is necessary.

mooIN rejects this answer. The term '1°9¥2' cannot be compared to the word "X, for -

— N1aYYa 957 YUY NON 19N
It is only a general masculine form; it would not justify excluding women.
Wherever the 77710 writes in the masculine, a woman is included on account of 21277 MW
91 woRY 7w It is only when the word @K is written explicitly that an 7wX is excluded.

NDO0IN answers:
— 199139 AN ANNRY AN TBNn [1PWPNT] 0N 13529 9DINY
And the n'"1 answers that the X7n) there likens goring to killing and
goring to damaging, so since the X compares the goring (and killing) of a W
DPDIT to PP -
— UK SVIWNY YWIN MY 9100 53 YWIN (nh 52 mnw) I3 2NT PP 19995 1)

3 25-19,%3 (2°wOWwn) NMY

% The xm there mentions other 2 that are included because of the seven 2w written in this 7wAD.

" w3 P00 oW QW

¥ See “Thinking it over’.

? X, 7. The X3 there is discussing how we derive that a an "W is stoned for killing 21p. The X3
explains that the 770 writes 73> N2 X 173 712 X (two times 113°) to include 731 for n°n and for 7°p°11 by 1P
(even if the 7w is a on).
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We would have derived the laws of %p0377 72 from the laws of 11 where
it is written the word w°KR, as it says W =W = %2, and we would
presumably exclude @R from (1711 and from) the laws of o117 MW -

:NPT 9129 INY ON
was it not for the %129 of the P10 that it wrote M seven times.'® However when

there is no reason to exclude 7wy, then we say that w>X? nwR 2037 MW, even if the 7w
is written 127 W92,

Summary
If the word ¥R 1s written in the w19 then women are excluded, unless there

1S a M2°0. If a nwno 1s written in the masculine it includes women, unless a
reason can be found to exclude them.

Thinking it over

""w1,'" when explaining why it is necessary to have the 7vaw 21w MW M12°7 to
include 7wx1 MW, cites the P0o of (°p1) MW Hva(Y), as a reason why we may
have though that a 7wR7 W is Mo from n2°po (disagreeing with MooN).
However, maoin cites'> the p109 of (nav) ¥oy2 (ax) as a possible reason why
women would be excluded [and then rejects it]. Why this difference of
0°?109?

10 Now that there is a *12 for 9p017 MW by a nwX MW, we can derive P11 from n°n that a woman is liable
for 711 as well. See R"wAanb 2" 7N,

U awxa a1 2,

12 See footnote # 8.
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